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A4~ class Person{

5 string name;

6

7 public:

a Person(string name){ this->name = name; }
9 string getName() { return name; }

1@ };

11

12~ class Family{

13 Person *p; // Person Hi & = 21 H

14 int size; // Person HiE 2 =22, 2tEZ FdHA =+
15

1 3] public:

17 Family(string name, int size); // size =0t S Person HIE =& 4
18 void show(); // E': s FEdH &=

19 ~Family();

20 };

« 2 main()0| &3t =% Personit Family 2220 223t BH =2 F7|ot0 I EE 245}t

27 - int main(){

28 Family *simpson = new Family("simpson™, 3);
29 simpson->setName(@®, "Mr. simpson");
38 simpson->setName(l, "Mrs. simpson™);

31 simpson->setName(2, "Bart. simpson");
32 simpson->show();

33 delete simpson;

34 1}
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#include <iostream>
#include <string>
using namespace std;

class Person {
string name;

public:
Person() { name=""; }
Person(string name) { this->name = name; }
string getName() { return name; }
void setName(string name) { this->name =
name; }
jS

class Family {

string name;

Person* p; // Person Hf & I QI E

int size; // Person Hi g2l 37| 7t& 4 =
public:

Family(string name, int size); // size 7} =22
Person Hi &€ &% 44

void setName(int index, string name);

void show(); // BE7IE T =

~Family();
b5

Family::Family(string name, int size) {
this->name = name;
this->size = size;

p = new Person [size];

Family::~Family() {
delete [] p;

void Family::setName(int index, string name) {
plindex].setName(name);

void Family::show() {

cout << name + " 7} 2 ChS 1t 20| " << size << "& UL|CH" << end];

for(int i=0; i<size; i++) {
cout << p[i].getName() << "\t';
¥

cout << endl;

int main() {

Family *simpson = new Family("Simpson", 3); // 3322 T+ 4 &l

Simpson 7t&
simpson->setName(0, "Mr. Simpson");
simpson->setName(1, "Mrs. Simpson");
simpson->setName(2, "Bart Simpson");
simpson->show();
delete simpson;




#include <iostream>
using namespace std;

class Circle {
int radius; // 2| BtX| & 2t

public:
void setRadius(int radius); // BtX| &S &
double getArea(); // HA 2 2| EHSHCL,
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#include <iostream>
using namespace std;

class Circle {
int radius; // ® 2| BtX| & 2}

public:

void setRadius(int radius); // Bt X| 2 & M stCt,

double getArea(); // HA 2 2| EHBHCY
b

void Circle::setRadius(int radius) {

this->radius = radius;

double Circle::getArea() {
return 3.14*radius*radius;

int main() {

CH' << endl;

Circle *p;
int size;
cout << "RO| M= >> "

cin >> size; // &2 7= Y

if(size < 1)
return oO;

p = new Circle[size]; // 244 HI € S 44
int radius;
for(int i=0; i<size; i++) {

cout << "&"

<<i+1<< "9 HIX|E 5>
cin >> radius;
plil.setRadius(radius);

b

int count = 0;

for(int i=0; i<size; i++) {
if(p[i].getArea() > 100) {

count++;

h

cout << "HAMO0| 100ELC 2 A2 " << count << "7 &L

delete [1p; // A HHE A
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. C}2o AmAFEY|Z BHEoHe T2 U OHS 7| 95 Ta st & ZajAo|ct

4~ class CoffeeVendingMachine{ // HU A I E HETG= S~

5 Container tong[3]; // tong[@]= HU, tong[l]Z =, tong[2]= EEH == LIEtH
6 void fill(); // 322l S 2F CEE

7 void selectEspresso(); // W~Z Y42 HA=-T 2, A 1, = 1 =0

8 void selectAmericano(); // Ot ZI'=E HA=st A5, HL 1, = 2 4-F

9 void selectSugarCoffee(); // €& HU = H=zr A<, AU 1, = 2, € 1 -2
10 void show(); // M HIL, =, 2o &g =4

11 public:

12 void run(); // LW A2 EZF

13 1

14

15~ class Container{ // & SILIE LiEILl= S~

16 int size; // —HH Mg, zith AE3E = 10

17 public:

18 Container(){ size=16; }

19 void fill(); // Z U ZEF(1e == = F2|

20 void consume(); // 18t= A2 Gt

21 int getSize(); // M 227 2=

22 1}
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(name), S 2 =(capacity), & = (speed) =

A stet. Airplane 222 & O[5

2 M
= =
i LS

7| E LIEILHE= Airplane2t= O|52| SeliA
T H

Ayl BB Holda) BE Wy AL HE WHE
H H==0f Ciot H At 278X MY &=& 2dottt

ne S 20| Xt RN E = Zolotet. dFA= ZE HOIHE &= =& AL OfL{H ofLf

Airplane 24N 2| S| HENE 2 &0 SH5t= print() &+ ZZA[F{2t

Main () 0| A Plane 24 A|| 271 & ‘445t HI Xt BHXE =2&010 Eef

BN CHWINDOWSHsystem32%#¥cmd.exe = a X
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- HAE LEIW= Box 2h= O|E2| 2eiAF HAStet Box Selas &Ate| ZO|
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HEZO| EXAt HA|X|E LIEtL = S22 SNSE 246t EXt SMS= SAIXte| Mzt
H S (sender), =M X2 M3l H S (receiver), HA| K| EIA E (text) 2| O|O| B E ZHEICT

- HEot XS Fotettt
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AFOHIALAL #1
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o YWE LIEILl = Date 22 A E 2 £ At Date 22 A+ year, month, day & HH H=2 JHEICH oHO| X7 |
r oz

= 55 d2| 8| 2L} nextMonth() = Che &2 LIEIL = 2K E YH2totLt isLeapYear() = & 30|

| AEfE ZS}= print ) 42 7HX| 12 YEE 7PHBICE print () = CHESH G Al

>~
r=
lo

[ | =

FotCE & 709 K| S & Jot0] HAEStE}

riot
r

Date nextMonth();
Bool isLeapYear(); // & H 0| ™ true t=t

CHWINDOWSHWsystem32¥%cmd. exe

Class Date {
int year;
int month;
int day;
Public:
Date();
Date(int y, int m. int d);
bool isLeapYear(int y);
void print() const;
Date nexdtMonth();

}s
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- AE EAM 1) oM R2l= HEES EAF HA|X|Z LIEtHL = 22 A SMSE &g ot M 0| ULt SMS
= SAXO| M3 HS (sender), =2 XHO| M3} H S (receiver), HA| K| Bl A E (text) S| HIO|HE

ZtEIEE R 7H | 2t AKX E CrE0t 22 S E2 = 4950 M HAESHE

. HEXQl K HYS 0|BI0] 372 EXIHAIXIE MO K E S| A}

- HEE 0[83t0 3712 ZXAIHAIXIE SHLR W5t XTI LAt
A 010-1234-35678 ==2AF: 010-1234-3567% LHE: c++£— = S| DMtz
dEAAE: 010-1234-56758 ==MMAb: 010-1224-5678 LHE: 4| sE&DHAlE 2H U=
Class SMS
{

string sender;

string receiver;

string text;
Public:

SMS(Q) {

sender = “”;

receiver = “7;

text = «”;

}
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- SME LHEt = S22 StudentS HO|3HC}. Student= 0|2 (name), 84X (marks) S
A HE JHRICH HEHE 0| 8310jM S5 2K B E 2 THELCH A8 A2 S E G| O|H
E = 2HotM B O KMot 20| sort() &S A S HO| 7HE =2 =2 &
E Y E0 YEE E=dtet

B TN DO S S systerm I 2 cmdaexe
dEE floll #include S L
. ke -t == . 4.3
<algorithm> Z=7}3ljof&t =22 L
sort(vec.begin(), vec.end(), =5 520
compare); AHE i R A ——
Qr:‘% =| =F==
Class Student { a5 s s
string name; H==5ted B ot S|Lt =il =

double marks;
Public:
Student(string n, double m) : name{n}, marks{m} { }
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Class Contact {

Private:

string name;
string tel;
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